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33141110 tf[pu\uqhp/pbtur/ 7-1.4 uurhpfrl q< nuu 4000 340000
33141110 tl[pur\uqtp q]rquf g 20.270 +< nurm 300 290 87000
33141111 \q2nth uqhrlurtrbtrhp prlpt 2.5.5 +< num 4000 94 376000
33141114 pd2\ur\uh purhqlr$ /riurn11u.r/ +< dbunp 9000 /6 702000
33141115 pdzburllurh rullpurL 100e q< hu.im 1 000 8'r 81 000
33141143 U ! tu p ft$lt\ umn p uuhplrl q< huu 20000 a. 11 62800
33141145 uruLq nqbnqhqurl|rtr 25a/nu1L\gnq uruhrlnrf g< hu.rur 300 174 52200
33141145 urutrl nqbnqhrlurl|rtr 27Qlnu1t\gn4 ruuhrlnrf q< huu 200 174 34800
33141145 uruh4 n4hnr-qhqurthh 26Q/nqtLqnn urutnnil/8gilil 9.< nulm 200 9s0 r 90000
33141145 urutn nnbntn hnurrhh 23Q/nu tL onn uruhn nd/89dil q-< NUILN 100 r00 17400
33141145 uruhn nlbmn hnulhh 23Q/nr-n tL onn urutn nd/1 1 Oilil c< hur|'n 50

33690000 htrurmpurolurh lunnnrlurll qurEn dhzr.turL rlurtrdturnrl -5 rhl c< nuu 10 232 2320

33690000 I.trrnn4urgfnh l""q"rl*ll gurEp dh2rlurtr riurhdturnrl -5.5 rid
+< nwn 50 232 11600

33690000 hhurnrpurglrnh fun4nrlur! qurbn dhrilurL durhdhrnnrj -6 rid q< nur 150 2J2 34800

33690000 I.hurnrpurglrnh lunln{ur\ gurEp 6tr2durh rlurhdturn{ -6.5 dd
q<

num 50 232 11600

3314 36 l;ururturp hpurlqf 20 a q< num 3000 44,5 133500
33141 36 \urtnhup hpur\[ 22 e q< nuJu 3000 44,5 133500

33141 36 \ururhurp tpu[[ 24 I +< num 3000 51,8 155400
33141 36 Llulnturp $n1|r hplldlnq 14 a +< hu-ru - 400 164 65600
33141 36 lulntup $n1|r hp!d1nra 16 Q +< hulun -300 > 164 49200
33141310 t,hpurp\fl1 uruhqtrbpnr.l 5.0 +< hurn

" 
3oooo 11 330000

33141310 Ltpurp\|r2 urutrfrtpml 10, q.< num 9000 17,25 155250

33141310 Ltpuplfir2 uluhqhhpnrl 2 +< nuLn 7000 1l 77000

33141310 t bpurp\f2uuhqhtpml20 q< nuLn 3000 zo,t 78600

33141310 t hpurp\|rfrhp 1 +< nuul 3500 8,8 30800
33141310 futLhh bhpurp\|r1 +< nuLn zv 11 1440

33141178 Zurrfurlurpq b/h +< num 20000 40 800000

33141159 !.tntungtrhp n2 ur.nhpfrl 100L fuFSlf'L / +< nuu 20000 14,5 290000

33141156 Itnlmghhp uuhpfr1 7.5 /ALUqUL LUSb€U/ q< q.nuq 2000 80 1 60000
331411s6 \hntrngtrtp utntplrl 8 /trLUqUL LUSb€U/ 9.< qnUct 3000 80 240000
33141156 Ihnhngtrtp urnhplr18.5 / trLUqUL LUSbPU / +< qnuq 3000 80 240000



33141121

Qurptlutrlnrp gturqnr_ur70uU q*U t*,t*patpp 
-bhpbbrlnrl,rlfrpu,rpnr_durllurtr pt6Eur\nq ruuhrlnrl,urutrlp

hurlLn: hurriurdarllurbplrg, tp\rupur&lrq ur\nufhhpml
uruhnnnhhrnrri $hburJurh hrurJurn, 24 hurur

q< mnr4

unrq]

30 5040 151200

33141121

rrruphprhSmp .tf\plr1 nlntu U*,j h*rl*Fdtpp$d;sl
uurtplrl, hur\urpur\rnhplrrul urpf\lnqurhlr bur6\nt1pnrl,
bu\nq urutrlml 90url tplurpmplunip, urutqp 1,4 ild ,

ktnurlnl hrurfiudnt(urbp[g, tp\urpurd.[q urllnuftrhpnr{
urutnnnhhrnrrf .$rhnrrrh,,h Lrr,,f,,,- 2< L....-

+< ZU 85055 1701100

33141121

1 ulr u Lu uJrllfd .tF qFF[' rrunlu, hhpbb{nr1, urnhp}r1
hrulurpur\nhplrurl urpf\lnqurtrfr 6ruE\nr_1pn{, .lqurpnrl
urut4ml 90url hpllurpntplurtip, uruhqp 1.4 ild , htnurlnl
hunlurdnr-plurEplrg, hp\urpur&|rq ur\nufrhbpml
rrrrrl=nnnfrhtntt q.Li.,,1,,.t. L----t--,- .. 1

q< innLqh 12 9s833,3 1150000

33161220 2ul urtnhl/lhulrnh/ urn Lnh' +< num 3000 5 r500033690000 11" '

33690000

f, 1-_---r1-\4z ylrq q lllrLrrylru rlu
tTnrrrrl' 'fl-^ ^,-. l.-^L -r-,,r

q< nuLn 2500 34,98 87450
-1-J-._ **z uu{ulu}url{r rpn2uutu uqqnl_.Jhp
lhn$nnrlur rahuur hnhohLn N5O

+<
[n n lqn 50 4100 205000

33690000

T v uJy rwg ,rrru r.rr.un upuroquru3ur uuhpfrl
qpnQhulrnhurlurtnlrnurtrq uuhrl qplrlrhp N 200 uruhqfr
npuruturqlr8p 28G, 2durtrqnrn.lorl qrrflrl*rrfrg, urnhplrl
qilub\. equhb \ndur\ L qnfqpnqfrlhtrurl|rh qururlurh,
uuhnn u:'r]tnnrfulm hhnnrrr orl.r r f l- r',,,, ^,,,,r,L . rL^

+<

Lnnlql 12

32351230 rquu ouulruqbu 30'40 / Vn4ru\_\u:qm1tn / +< nuLn 4000 278 r112000
24931600 Sfrpuurd rluninSFurShq nhburqttr d*qul,ttt t-r h*,lurp /

uururh4urnrn nruptnml /
+<

mnLf 12 11800 1 41 600

33141136 qqu*ygu{,Irq 11uuurqcu ourulurqhUF hurdrup /
Lrurulh4urpur rurptnnrj /

+<
mnLr.h 12 12800 153600

33141136 o Uu urlurqpur+F q ouruturq hVur huurnqlrfr pnqla /. Upp_
210HD 210mm- 25 m. SONY / Lrrrrf hrrrrfrrr-.il--- /

+<
rir'-rrpbp 10

33141136 hr 1'rl'

31651200

____at-a- Iv.rqilu : rvuu -vu Jvl q< thupbp t5 5400 81 000
uulultuquu cu-JU +< nuJtn 50 396 1 980031651200 st!tqtuquu i45-30 q<

hr-urn s0 | rsso 6750031651200 trQ duqru{b0 63"20 +< ntuLn 100 350 3500031651200 u{urqcu du'lu +< hu-rm 300 450 r3s00033690000 /uroquulurqF IUU huu / 24.55 / q<
mnrqn 30 650 1950033690000 quulutqP ruu nulln q.<
Ln n rql 10 300 3000

33111210 rhmFuh urulrd.p\ N1 9.< huLn 20 600 r200033141142 uLtuurlLu{lr lrur}lrqruu}nn

-

+< hu.rr.n 6 8800 s280033121180
F uuruuuruqnqn{ / Adyutor klasik / +< hrurn 50 2799 1 3995033690000

33191310

vuuLuIdtr rnurq4nn
rDnn,{"'t'-^ 1n Trr /

q<
dbLnp 300 936 280800

33191310

/ utr{u1 uuuurlrlt+nl-gutln / +< n[lJm s00 16,5 8250
anFd,urlrnfd pnpnufrfrllurur / 12-75[11/ q<

nuLn 1(n 39 9750
33690000 Uuhqhhp rlur\ntpurl Lhplr +< huLn '1000 20,3 20300
33690000 qu qrlldurl ucF qtrLurJFlr q<

N|'ULN 1 000 38,5 38500
38431710 rrFqElnqlu coe q< num 200 118,8 23760
38431710 alqtur\ru Hb 0.02 9.< hum 2U 140 2800
33141129 rt ruuq ulil.uuquq nuqnuu uuu{bnn{ 9< nuru 5000 48750

33690000 lnqutnnFF ouJnruqruubn 10 dtlt g<
NUJLN 1 000 1.1 1100

33690000 Inqururnplr 6u1ptu11tu10bp 1 00 rl|'1t q.<
nuLn 1000 14 1400

33141411 uzururpunp u uurlghp N22 9.< hurn 400 5400
33141411 u2lnuiFuhlr rr uurlphp N23 +< nulm 400 5400

33690000 vqJlruqul ur4FFnucnpf uurppfr hurrlurp +<

c<
nuu r500 400 600000

33690000 .Furdpurfi ur urqfr\ruurnp
hu.rur 300 7,42 2226

33690000 z.trunuEulF uurlfr q<
NUJLN 1 0000 s0000



33791300 Unurp\urlur\urb urqur\fr q< nuu 5000 7 3s000

33690000 |unqurtrur\ rlrnp&urLnplr hruriurp q< hu.ru 10 696 6960

33690000 rhpdurl|rtr pnqla'Stat Fax:h hunlurp +< Surpbp 1440 4320

32351230 Zurlnqhtr +lr,tlqttl oqurhq 1urriu1. 1 0W.G4.6V +< num 1z

32351230 Uqbpnqpu$burlf durqurrltb 1 12ilr.i"23{ q< nnLf/4-5

38411200 ahpilur2u:f KDM q<
NUJLN 300 243 72900

33141145 urutq nrfrnqhrlurl|rir 24elnr-r1h\gnr1 uruhrlnd/ 1 lOrirl +< hur 20

31651200 hqhtpp$ / rfrnp&urhnp / 0-1.5 +< ntum 2000 2,9 5800
33791300 U{un\1unl}r ntdfuf}r phurn duruqrurltl: +< tupbp 6 8800 s2800
33192160 trd2\urlurtr pphqttnnb qunnqurpur\ urlnrtllrtrh laqLpn{ q<

num 10 40000 400000

33791300 Uqlrpndhrnp 8purqirurl|rh rlrurphpn{ h ri}rurtrqurdlur
tnntnnhhurrml

+<
nuLn 1 528000 528000

33690000 faLur\ulq trnpurbhlr q< hu.rr.n s00 zz r1000
33690000 'tlnpurfr uh4rllr2 +< nuu 700 26,88 18816

33141641 thpur\piluL \unnhrnp 6FG +< num 60 42 ZJzU

33141641 ktpurfurriurh \ulnturp 8FG q< hulLn OU A.\ 2520

33141136 Upururbbnq \unnhurp \urpgunlnplr2n{ 1 OFG +< hwr.n 40

33141136 UpnurbEnq \urtnhurp \urpqunlnpfr2nrl 8FG q< nuu 60

PlttltwQwb \ntpbp

I.urpnpunnnp urqlurtrl nr-ptp/nhurqttnnLhp/

33141160 dhlh 5000 qpurrl ntprpuruntrfr! htrnurqmndurh hrurlurn /5 r / +< zttz 12 4850 58200
33211120 Zunlurpurbnr q11nt\nqfr 400ri1 q< unlql 2J 6120 153000
33211150 Zur{urpurEnr ri}rquLlmpfr 240ri1 +< nnulh 6240 81120
33211130 Zullurpurhnt funlhurnhpfrhlr 240ri1 +< mnlql 18 6240 112320
33211140 Zunlurpurbnt plrfirnmpfrhlr 1 00/100111 q< untql 5 5280 26400
33211270 Itr4hurtrntp uqfurur\nr-g 1 00rI1 q< mnLrf 2280 2280
33141179 Zur4rupurEnr ALT urprhlrhrnpurhuulllrtrurqfr 400 ri1 q< mnlqn ? 1 0600 31800
33141179 lur{urpru8nr- AST uruqurpurunnupurhurud}rhurqlr 400 rl1 +< mnrl{| 9630 28890
33211160 lunlurpuibm \pturrnlrhlrtrlr 400rI1 +< unL{r Ai 4650 1 8600
33141179 lur{urpurEnr- rnpnrlpnqlururn}rtrfr 200phuur +< mnlun 6000 216000
33211260 Zunlurpurbnr- urtrurlruurptrqrnnft qfrbf 'O' 100 q-< unr$ a 4400 8800
33211240 fullurpurbnt nhrlurunlr4 $url4nnp 100 +< Ln n lqr 4200 12600
33211250 Zu:rlurpurbm C- nhur\urfr{ uqflmu\ntg}r 100 s< mnrqtl 6 4650 27900
33211230 ftr{urprubm ultSlrflt"h 1g G, lg M \ulf \urp4}rnfrqftrurlftr +< Lnnrt{| 4440 66600
33211320 Zur{upurbm hhqulnfrur B HBsAg g6pLuur q< nn[Lrr 1z 23760 47520
33141179 lunlurpurbm plrpnpuftr T4 urqurur N96 q< mnlql 1 261 60 zolou
33141179 Zunlurpur8nr- tnpfun4pfpntrfrtr T3 ph4hurtrntp N 96 q-< mnt$ -1 261 60 261 60
33141179 lur{urpurbnt p}rptnrnpnq hnpilnh TSH +< mnlql .. .4 261 60 r 04640

33696500 Urllrlurqur 120ri1 +< unrLfl 1 261 60 zotou
33696500 Uuqtrhqfnul 200ri1 q< mntql I 6600 6600
33696500 l]ulhurl|rtr $nu$unnurqru 120 ri1 +< Ln n rqn 1 3360 3360
33211300 4{urpurbm \urpfrmrl}r ptr4}urhmp 200rI1 q< tnnLr.i.r 3900 11700
33211290 lur{urpurEnt \urfrnrrf}r 1 50ri1 9.< Lnnrqn 4 1 0400 41 600
33121270 ipnqnirfrtr I phuur N20 c< unLr.h 2 2112Q 42240
33211190 3nf\1nh A 200 q<

r,n n Lr.h 20 870 17400
33211200 Snfr\1ntr B 200 q< mnLf 2V 870 17400
33211220 3n[r\ph D 200 c< mnr$ 20 1 650 33000
33210000 Uhqlr ptuu 100 q< rnnLr.h 12 5520 66240
33121270 Untl$nuurfrgfuurppnr +< qq 6000 6000
24321440 €urgurfuurppnr +< nuln 0,5 1 000 1 000
14781300 t,uruFhntri 120 rl1 +< num z





33621440 trhlr4urqnl 1% 1 ri1 +< ur{I{ 7000 24,78 173460

33641413 trhpuunitpurqntr ullq 4 rtqidl 1 d1 q< urliq 7000 JI 357000

33621380 Trqnpubb 0.25 q s< hutF 4000 5,1 20400

33631310 'I[fln$ttrur\ 50 dq +< hrur 20q0 14 28000

33631310 'Ilr\p$hliu\ 75 ilq 3 ri1 +< urliul 7000 78 546000

33621490 Ubp[lrpqur 250dq c.< h*F CUU 40,56 20280

33611170
-Ipmnur{tp}rtr 40 dq q< h*p 600 64 3840

33651141 t rurnplr gt$nr-pnpufrrl 750 ilq q< $lurl1nh 1 500 839 1258s00

33631290 t'pnrqpnghlr o2urpur\ 1 00 riq/hi1 100 il1 q< $1ur\nh 300 740 222000

33631290 f'pmqpn$ttr 200 rlq +< hurp 2000 5,78 11560

33621600 htr+uqunJh+ 2.5 rlq +< hutp 800 to 12800

33691176 f'trandtuurglrtr 40q. q.< punr-\ 40 326,27 13050,8

33671114 UrllrLn$lrfrh unftq 2% 5 rI1 9.< urilrq 5000 37,2 r 86000

33621700 Uturnrqpnpl 50 rlq +< nhqurhurur 3000 12,3 36900

33642230 Lhnpfpnpu[t 100 d\q +< 4hrlurhurp 3000 14,23 42690

33621540 qurulullhpfrb (rqurrqurrlhplrtrfr hfr4pnplnpf4) 20dq q.< dnilf\ 500 15500

33621760 Ltrurturqnht h 9.< 4tqurhunn 3000 13 39000

33621760 $nuprqlfrl 10 ilq +< ntqurhurur 3000 q?o 16170

33691176 tu\rup4 30 ri1 9-< 22bE 200 199 39800

33691192 hrurLurrhh 2o/o 2 {t q< ullul 3000 24,78 74340

33611180 Lru\urntlnqur / Lrupuurlur\ / 100 il1 o2urpull q.< $pllnlr 100 1450 r45000

33671114 hnr-Shrhtr 150rlq +< hutF 500 2,63 1?16

33691213 1ur\tnnpurglrptu urgfr4n$fr1mu, ph$hqnpu\utpiwtl q< 4hrlurquln 7000 173 1211000

33661116 Liran\urlfrir hlqpnplnplr4 1 0% +< urdul 1000 62 82000

33651199 lur\ur\ulnur4ntpl urh rquru{uruururbl nr-p q.< hur{urprubr 300 J55Z r665600

33651212 Zurllullrurjrnurgrlurtr rqururrluruururblntp urtrururnpulrh +< unrlurh 300 285 85500

33621100 Itqurplrtr (hhu{upbb trulnplrntd)S rI1 s< uFqurq 300 720 21 6000

33621640 lfrapn\np4]rqntr 1% 10.0 puntB q.< qurp\ntd 50 210 10500

33611370 Ialruni[tr p1nFb4 5% 1 d1 9.< unlqntlur 500 18,6 9300

33611420 gurglrmrlfr qlnt\ntrurur 10 % 5 d1 +< urdul 3000 70 210000

33621150 gntrur\Jrntr UU rlurb\ur\urtr 2 r.iq 0.2 d1 cl< uFqurU 900 126s,6 1139040

33621370 h'qnunpplr4 a[trfrripunn 20 rlq +< hurp 2000 29 58000

33651112 ullopulrgfrfirtr (ullopulrglrfLf tnp[h]qpuu), q< nhlurhurr.n 2000 129 258000

33671131 Lnpunnur4frtr 10rlq +< hurp 300 2t,o 6480

33661131 25 rir/ghbnpurnrhururr+urt$ur fpfu fuphp'ppndfq./ +< +tnurhurur 200 156,8 131360

33621330 +ng4frunllrtr 2 tI1 s< uFqurq 700 113 79100

33621340 9n$hlrh hururp[ntd]r phhqnunn '10 % 1 rI1 q< uFqulE 700 31,1 21770

33691176 nu\thurqurpnr-\h lo.*, Bur2rifr urprfunnlrtp, hurqlt{utpa}t 9.< +hnurhurur 500 79,36 | Og0aO

33651123 thQnrnurpufrri 1q +< Slur\nh 2500 32s | 812s00

33691187 .{frtrqnghrnfrL 5 d1 +< ur{rq I trnrl 95,2 142800

33691187 .{,htnunqturhtr 10 dc +< hurp -1500 E 58,43 87645

33621510 trurqunqplrl 25 riq q< hurF 10000 3,8 38000

33621761
u]'g unFLuLuuIgIILuldldIrLr u uquuqlurlulr ulullruyulul, v uY'
15.2dq,

q< 4krlurhurut 9000 r0,3 92700

33621690 kurprlh4frpl 12.5 q q-< hurp 7000 24 1 68000

33661121 urghurlrluurfrgfrlurppnt 1 0hlq +< hurp 1 0000 18,01 180100

33631170 rnhrnpurglr\1|rh 10{q/q, 3q ur$rurBurtp g< rqrup\nd 70 480 33600

33691176 npulbtpuuniurppnt 50 ri{tl1, +< urdu{ 100 1667,2 166720

33651253 iullopufr$htr (rnuliopulr$htrf gfruprum) 20 dq q< hurF ZCUU

33621310 iplrrlhnurqfr4frh 35 dq +< nLqurhurur 1 0000 22,8 228000

33661154 Sturpur\urlfrh u{ 1% 10 d1 q< $p\nb 10 2160 21600

33641200 l-Ihqurqnnuurnl 200 riq c< qh4urhurut CUU 209 104500

33691210 Uurpn$ruhmfrtr 0.25 riq 1 d1 q< upqulu 2000 39 78000

33671115 UmlSn\ruri$n\ur1|rL 1 0 % 2 il1 9.< urdul 2000 56 112000

33671113 uurrrnlrnurtfnl 10 rlt qnnurqhn q< $1u\ntr 100 1 000 100000

33651131 Unr-lSunfhururBuurqnh \urluntlp 1 00 {1 9-< $pr\nir JUU 480 r44000





33621750 LfQhalrqfrtr 10rlq +< 4h4urhurrn 3000 13,89 41670
33651280 t hSmpurlh4 220riq o2urpur\ +< $r 300 | 950 585000
33631230 rln{u1nh 1n4 10% +< t-lt-t, 50 3000 150000
33691144 t,uunlrnr-rffr plrnunrlSurur 30% 5 rI1 +< urilq 600 43,5 26100
33691176 bthuqhnhq ?riq ri1 150 rI1 q<

Sr 300 2494,69 748407
33661160 tlluuf$[frtr 0.2 % q< urilul 300 ' 102 30600
33691138 Quntknqur 5% 250 rI1 +< $L 8000 151 O 1215200
33691138 Qunr-\nqur 5% 500 d1 q.<

Sr 2000 154 308000
33691138 Qum\nqur 10% 100 rl1 9.< Sr 150 324 48600
33691136 t ururFhnullr ptnnhq 0.9 % 500 d1 q< pr 3000 140,96 422880
33691136 ruruFlrnr-rih ptnFhrl 0.9 % 250 tf1 q.<

$L 1 0000 149,4 1494000
33691136 rururFbmilfr ptnFhq0.9 % ',|00 tt1 +< $r 2000 95,9 287800
33691129 lnilFhtru:grlurb qFtqrupuln nlrbqhp 500 il1 q< Sr 1 500 140,6 211400
33691129 tndFhhurgrlrub qphqupurur ftfrl,rqtp 250 rI1 +< SL 7000 14q 4 1 045800
33691227 [ntifbbugrlurb qnhqupulrn qtdn4hq 250 ri1 9-< $r bU 820 41000
33661170 un{n\ur:hh 0. 5% 250 il1/qpn\-thtr/ +< Qr 300 504 1 51 200
33621250 ]tpurnFurh 40 /ntnqnfrqlm[fL/ 250 d1 g.<

$r 100 1680 1 68000
33691r34 {urftm{}r ptnFhr} 4% 100 rI1 q.<

bL 300 320 96000
33691112 Uhnpnhlr4urqnl 0.5% 100 d1 q<

SL 300 149,8 4494Q
33611110 urUmdhhhmrllr hhqpopuhl, rlurqtrtqlrnuilr hfr4popuf4 q<

$L 200 1 000 200000
33691176 nprqrlnutp6%500ri1 +< SL 30 1720 sl600
33621250 anftqgnr-!|rh 500 rI1 +< $L 20 1700 34000
33691176 Uilhtrn\urqFnhurfapm 5/2 50111 q<

QL
<n 360 1 8000

33661114 Shhuuhlrl 2q q.< urillrl 1200 42Q 504000
33661120 Unp$lrh hh+pnprnnf4 g< upqurq 300 420 126000
33691176 lpndh4nl 1q +< unr.lurh 300 780 234000
33631360 Jitr"bt't' 2o/o 5 {1 +< urdul 2000 239 478000
33631370 urnFur\ntFfrnr-rl phhqlrlurur/ 2.5 rI1 +< urdul 1 000 900 900000
33691226 SnrurlurrlnL (tnFruriurrlnflr h]rrlpnplnnh+) 100 {ql 2 {1 g< urdu{ 1 0000 r01,6 1016000
33691226 Spulfiu4n1 (mpurrfur4nfr hlr4pnplnplr4) 50 riq +< 4hrlunquln

1 0000 289000
33661136 }|rurqtqunl 0.5% 2 n1 q< uniul 1 000 75 7s000
33661113 @hnrqtt-rururl iruu+h 1 q q< 22F\ AN 340 1 1 7000
33661100 urhhupurtr 250 rI1 9.< SL JU 23000 690000
33661139 rurtnulFhl 0.5% 1 rl1 +< ulft:l 200 9s,5 19100
33661111 llhuuilhtr (ktururrflrhfr hfrrlpnplnpfrrl) 500rtq/10rl1 +< unrlurlt 30 r348,99 40469,7
33621140 qfnu{hanqntf (qfnqh+nSFtl} p}runtlguln)75tiq, +< 4h4u.rhunn 3000 87 261 000
33651192 Qllgnf:rlurlttru 2lrdnt\ 9.< hurrn 10 1 08000 r 080000
33691176 tnle ( I | | )-hfr4popuffi 4tp"*@ <uu urrlqmlur 50
33641310 +h4Fnqhuuhpnh / rgnt$urumnh/ <uu 4tqurhurp 100

33691176 duql-rhqfrntrilr pr\ururtnf Alrhfapunn, "llrFlrr].p"htthhhnnnnrnnhn I hrrnhL-BB <uu 4hlurhurp
--500

33691192 Jr+n\*thlt (il-trrn\ur:hhh hlr4pnpppf4), Lqhbt$nhh <uu uFqurq ._ 
"40

33691176 Qhtrnururpnq/gf \lnqhtnnurl / <uu Sr 25
33691151 npnqhhullhq i5ri{rl1/ <uu SL 10
33691152 lnFnqhqluilb4 /1oilq/dti <uu St 10
33691150 oA,,-, 

-LL.^LLt.v lJlr Lll u q uq u lru <uu huln I

33611130 ur11Fnulhh <uu 0i I
33661155 AhLn\urnu{btr <uu $r

50 h 30 tf nltnun4 ub(6wp It tupqnfuul u1tu1[ubttEpru[
33616000 Udqpflurtr 5 ilq +< rlhqurhunn 550 a1 42350
33651103 ullfrnrpupnh 200 dq q-< 4t4urhunn 700 115 80500
33674000 ururnprlurutnulnfrh 20 dq c.< qhrlurhurur 1500 ol 93000
33612100 urnnpr{urumrun}rh 10 dq q.< 4hrlurhuru 500 45 2250Q
33616060 trfruurqpnlnl 5 riq q< qhrluhuru 2000 17 s4000
33622720 'IlqnBulrtr 0.25 +< 4trlurhunn L50 Itu



\
33622120 \r\1n$hhur\ 50 rlq q< 4tqurhuru 300 20 6000
33613000 rltpuurihpurqnb q< 4tqurhuru 220 50 11000

33631600 Uhuurqpnlnl 50 rlq q< 4hrlurhuru 1010 J2 32320
33613000 I-Lnplrpnpulrh l00 rlq +< 4trlurhulu 500 18 9000
33651105 hltutluqpfl 10 riq +< 4trlurhuru 700 1 0500
33622150 9urqrnnqplrl 25 dq +< 4trlurhunn 500 5 2500
33674000 9urp4. -duqtrlrl 75 rlq +< 4hqurhunn 5000 25 125000
33674000 trurp{h4fun1 12.5 +< 4trlurhurur 700 IOLJU
33675200 Ughufluurfrght-fopr. 1 00 riq +< 4hlurhurrn L900 61750
33642210 Uurg:mnulfnl 10 rI1 gnrlurglrp +< 22F\ 30 2050 61500
33622000 Utpflqphahlrqnlntr 4 rlq +< 4hlurhuln 2000 80 160000
33622170 Uq[pmhnlur\mnh 25 rlq +< 4tqurhuru 1600 45 72000
33651132 .{urp$urp}rtr 2.5 ilq s< rltqurhuln 400 20 8000
33622630 Sntpnutd|4 40 rlq +< 4hurhuru 280 4,5 I ZOU

33642310 tltpft4nqpfl5 ilq q< qturhuln 400 150 60000
33600000 tltphlqnqplrl l0 {q +< 4turhuln 1000 '1R5 185000
33600000 tltplhanqpfl + urftn+hqlrh 10/10 q< 4turhurur 900 2/J 247500
33613000 Lhpf{urp1 +hl,+nt'pt pfolrpqfr4 5/12.5 rlq +< 4tlurhuru 800 229 1 83200
33600000 Uhptnrrulq gn{urghF 25Q I 1 2.5 9-< 2211\ 25 r 3000 325000
33600000 'tlhpf lqnqpf l+frh4urulunilrrl+ uliln4frqfrlu 1 0 | 2. 5 I 5 9.< 4hrlurhurr"n 1200 308 369600
33600000 qitnltl-rlttlrf 

nhl+unfLn+hqhh l 0/5 +< 4trlurhurn L500 275 412500

33600000 qtphln1""lnht+ulitn+hqlrtr 5/1 0 +< 4h4urhuln 300 22J 67500
33600000

* Ouurhnur\urlr{ Ca 1000rur+ !3 Ne20 +< rlhrlurhurur 400 132,5 53000
33600000 Uhlnpu[\urd 150r.lq q< 4trlurhunn 100 150 r5000
33600000 hlrurlurqpfrl+ ftr4unqurri[4 / hhqhpu 4nr-n Qnpmh | 2012.5 s< 4trlurhurur 300 100 30000
33600000 fdhnururp4 200riq 4qd 9.< 4hrlurqurr.n 500 1 7500
33600000 Ln$qph1trf $npmb q< 4hrlurhurur 350 zto 79100
33600000 Sp[qlhpuull 1012.5110 +< 4hrlurhuln 1 800 308 554400
33600000 9lnqiqnqptl 75riq 4hur 9-< 4tqurhuln 1 000 157000
33600000 Lhplrlhrn 5riq 9.< 4t4urhunn 129 70950
33600000 Ud1nr1|rqfh 5 ilq +< 4hlurhurur 300 25 7s00
33600000 hh4urqurlfrrl 25 rlq +< 4krlurhurrn 400 18 7200
33600000 hLulurqpfrl H +< qh4urhunn 25 I olSu
33600000 En$|rgh 150 rlq c< 4hrlurhunn o5u o 3900
33600000 '{fhqngtu}rh 10 ilq +< 4hrlurhunn 160 r00 1 6000
33600000 Splrtitnuq[4bb 35 dq q< qt4urhunn JZVU 77 246400
33600000 .{frupmri \urp}r +< 4tqurhuln 110 50 5500
33600000 Odhqpuqnl20 dq 9.< qtrlurhunn 460 17 7820
33600000 tlhphhqnqp + ulltnd'tlpturnurhu / 5/5 +< 4hrlurhurr.n 400 225 90000
33600000 Lh$tabqbh 10 ilq q< 4trlurhunn 150 40 6000
33600000 Uturmnptpuunn 2.5 dq s< 4t4urhuln .310 88 27280
33600000 Lnqurpuluh+ h]ryrnplnpplrurqh+ / lnpfrunur, rrn-uthurnp / q.< 4t4urhuln -320 r50 48000
33600000 Ln$qph1 $npurt q.< 4tqurhurur 1 000 276 276000
33600000 h\{urnnp 20l'10 q< 4t4urhuln zcu 20v 65000
33600000 flurrlfrqpfrl +hlr4pnplnppirurqlr4 / tuurptnfl'I I 51 12.5 9.< 4hqurhuln 340 137,5 46750

.{un\lrp c

09132200 FbLq[L nbqnqup +< thun 30000 4ZJ 12750000

Shuburulruh uurtr hfrqfrbtr]r! t plugph dlrgngtrbp

24451140 Ulutnurhurtrfr2 ilurppnl rlrn2fr <trnrlhur> 475qp \uril UU huru 600

39831245 Ztq".q odun 5 \q [urqpnhb rnurpurln{ UU huu 12

39831242 Lltugph t"hn2[ unrlnpur\urh UU hunn 400

39831243 L{uSpr| qhn2[ ut[Lnnduum UU \q 50

39836000 u{t1 uttlur\ur1}rtr UU hurrn 100

18141100 Shnhuur\urh nhurlrht d,hnhng UU hunn 200

44411110 ap[ bnpur\ rft\ rfu\urhnrl / pnhur\m.l/ u]urrnh UU hurm 60



44411110 lpf 6npuQ 0bl1 thtulul0n{ (pnbur\nr{) \rupurqJr lnftutr UU hurtrr 30

44521120 lnurhirhnuh rhurlrurhh rlhqmL, rull nnurLh UU hurur )U

31531100 {1urilq 500 {u UU hurur

31512110 h tunfil hurtnqth H3 / Oununi / UU hurln 30.

30192210 hqnltlnn UU hurur 60

31321110 lnuurtrph rurn 2.5 tltl UU riturn 500

31531210 flbQLnptulu0 lurdq 100W UU hunn 600

31531300 Ln0Lnbun[ tururr]bn, 65 .{* UU hunn 200

31531600 gbpbQurlfr0 tudu.4 1 20ud UU hunn 20

31s31500 qbnbLrr!rhtr rudru 60ud UU hurrn 80

31221180 l.urdqf utururnnh UU huln 20

31686000 tuFrg UU huln 50

31588100 h. .l*p+*\ bhpplrh UU hurur 300

31211180 hr. urhqururhl trtnphh UU huln 150

44521170 9n4qhp UU hurrn 20

42131370 bp\urplur rqurhurpurhlr $ur\uh / uh3$p UU hunn 5

42131370 (Durr tnt rururh rlurlr urh UU hurur 30

44163100

44163100

9nr-qurpurbur\nhpfr burpurdnp |unr1n{u\ UU hunrr 20

L{urgupubf burlpur{np lunq"{*\ UU hurur 40

42132200 Qnh bnpurth rlhpnr-t rlhb UU hurur 30

42132200 aplr bnpu\|r il[2m\ {npp UU huru 50

24911200 Unuhlr& 1 Lq /hJnttuhur/ UU hrnrn 5

Ctryrudblp

9p btru llutr q I ur n r;ptubp h qp u u bt4 tu ! ut1 fttr t1 n rpbp

30197232 faryaurqurtul{ urpurqur\urp UU hu.ru 20

30197232 Unurqurt urn ran rdl ur L urut ndh UU huu 20

22851200 pqpurqurhur\ UU num 10

22816300 ,rmrihtnh rdnlnp, tr:l tnr-h UU nulm 10

39263530 rtnrlurt rihb UU hruur

39263400 llilpurlq UU hur.n 2

30199232 )purp ,A'4 &hu2urqf huniurp UU huLn 100

30199231 t ruilruLh bnurn AE d,Lur>urrlh hurilurn UU num 100

30192730 LunifrtrurgfuU purqurhp/ 100 / UU hruul L

30192114 purhurp \hfpf purpd.f\fr hrurlurp UU nuLn 20

30197231 brul1 100 hunn UU nuJm 10

30192125 UurnLhn UU hurun 5

30197622 fanrrga qphlm UU hum L00

Ct4urrlbttp

30000000 9ptuubt4ru!ru1[tL L huduLlupqlulfttr UU rlpurrl
1

31730000 ktbtlu nuunbfu LhUulluL uunpbn UU 4nud I

39150000 2uLurqurL luhnLlp tr uruppbp UU rlnurd 1a
39510000 9btrgu qurlfrtr urnur nLl urtrbn Uu n n hg UU nnwd

39710000 klbQmpnbuLl frtr !btrgurquLl [L ubfuL fl.1u UU qnurd

44190000 D[Ltu prupu14utr qutr uquL trl nLpbp UU qnurd

(utrrybpdqtrp

18130000 (umnLQ unuuhurgnrum UU 4nurd

39511120 ubL4 nqLul [L uq f tnuQbqbtr UU qnuid

39511150 rbppLru![ furnulmu{Lbn 4lunL/ UU 4n ur LI

39511150 lbpBLru!Lbp UU +nurd
flbppbp, ruduruqpbp UU qnud

U2fuwtlwttBttbp

Llutr puqbpbdurtr Lr ur fur.n n p n2durtr ptudutr d n rtrpf q< 4nurU 1

73111000 Lu pnp ur.n np hbuuqnur n Lp.y n LLLbp UU nuln 330
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